This report contains the transfers results.

Contest Name

Ward 5 - Wester Ross Strathpeffer and Lochalsh

Valid Votes
Positions to be Filled
Quota

5,620 4

1,125

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Christopher Alan BIRT	Scottish Labour Party	285
Biz CAMPBELL	Independent	796
Ian COCKBURN	Scottish National Party (SNP)	859
Topher DAWSON	Scottish Green Party	628
Richard GREENE	Independent	656
Alexander MACINNES	Scottish National Party (SNP)	608
Derek MACLEOD	Scottish Conservative and Unionist	1,036
Kate STEPHEN	Scottish Liberal Democrats	752

Total 5,620

This report contains the transfers results.

Stage 2 - Exclusion of Christopher Alan BIRT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Biz CAMPBELL	47	1.00000	47.00000
Transfer to Ian COCKBURN	28	1.00000	28.00000
Transfer to Topher DAWSON	46	1.00000	46.00000
Transfer to Richard GREENE	17	1.00000	17.00000
Transfer to Alexander MACINNES	2	1.00000	2.00000
Transfer to Derek MACLEOD	19	1.00000	19.00000
Transfer to Kate STEPHEN	89	1.00000	89.00000
Value of non-transferable ballot papers			37.00000
	Total		285.00000

This report contains the transfers results.

Stage 3 - Exclusion of Alexander MACINNES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christopher Alan BIRT	0	0.00000	0.00000
Transfer to Biz CAMPBELL	33	1.00000	33.00000
Transfer to Ian COCKBURN	468	1.00000	468.00000
Transfer to Topher DAWSON	47	1.00000	47.00000
Transfer to Richard GREENE	13	1.00000	13.00000
Transfer to Derek MACLEOD	6	1.00000	6.00000
Transfer to Kate STEPHEN	23	1.00000	23.00000
Value of non-transferable ballot papers			20.00000
	Total		610.00000

This report contains the transfers results.

Stage 4 - Surplus of Ian COCKBURN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christopher Alan BIRT	0	0.00000	0.00000
Transfer to Biz CAMPBELL	140	0.16974	23.76360
Transfer to Ian COCKBURN	0	0.00000	0.00000
Transfer to Topher DAWSON	696	0.16974	118.13904
Transfer to Richard GREENE	82	0.16974	13.91868
Transfer to Alexander MACINNES	0	0.00000	0.00000
Transfer to Derek MACLEOD	19	0.16974	3.22506
Transfer to Kate STEPHEN	110	0.16974	18.67140
Value of non-transferable ballot papers			52.28222
	Total		230.00000

This report contains the transfers results.

Stage 5 - Exclusion of Richard GREENE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christopher Alan BIRT	0	0.00000	0.00000
Transfer to Biz CAMPBELL	18	0.16974	3.05532
Transfer to Biz CAMPBELL	243	1.00000	243.00000
Transfer to Ian COCKBURN	0	0.00000	0.00000
Transfer to Topher DAWSON	85	1.00000	85.00000
Transfer to Topher DAWSON	25	0.16974	4.24350
Transfer to Alexander MACINNES	0	0.00000	0.00000
Transfer to Derek MACLEOD	2	0.16974	0.33948
Transfer to Derek MACLEOD	141	1.00000	141.00000
Transfer to Kate STEPHEN	110	1.00000	110.00000
Transfer to Kate STEPHEN	4	0.16974	0.67896
Value of non-transferable ballot papers			112.60142
	Total		699.91868

This report contains the transfers results.

Stage 6 - Surplus of Derek MACLEOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christopher Alan BIRT	0	0.00000	0.00000
Transfer to Biz CAMPBELL	0	0.00000	0.00000
Transfer to Ian COCKBURN	0	0.00000	0.00000
Transfer to Topher DAWSON	3	0.01134	0.03402
Transfer to Topher DAWSON	97	0.06682	6.48154
Transfer to Richard GREENE	0	0.00000	0.00000
Transfer to Alexander MACINNES	0	0.00000	0.00000
Transfer to Derek MACLEOD	0	0.00000	0.00000
Transfer to Kate STEPHEN	493	0.06682	32.94226
Transfer to Kate STEPHEN	9	0.01134	0.10206
Value of non-transferable ballot papers			41.00466
	Total		80.56454

This report contains the transfers results.

Stage 7 - Surplus of Biz CAMPBELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christopher Alan BIRT	0	0.00000	0.00000
Transfer to Biz CAMPBELL	0	0.00000	0.00000
Transfer to Ian COCKBURN	0	0.00000	0.00000
Transfer to Topher DAWSON	63	0.00308	0.19404
Transfer to Topher DAWSON	188	0.01816	3.41408
Transfer to Richard GREENE	0	0.00000	0.00000
Transfer to Alexander MACINNES	0	0.00000	0.00000
Transfer to Derek MACLEOD	0	0.00000	0.00000
Transfer to Kate STEPHEN	463	0.01816	8.40808
Transfer to Kate STEPHEN	22	0.00308	0.06776
Value of non-transferable ballot papers			8.73496
	Total		20.81892

This report contains the transfers results.

Stage 8 - Exclusion of Topher DAWSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Christopher Alan BIRT	0	0.00000	0.00000
Transfer to Biz CAMPBELL	0	0.00000	0.00000
Transfer to Ian COCKBURN	0	0.00000	0.00000
Transfer to Richard GREENE	0	0.00000	0.00000
Transfer to Alexander MACINNES	0	0.00000	0.00000
Transfer to Derek MACLEOD	0	0.00000	0.00000
Transfer to Kate STEPHEN	36	0.00308	0.11088
Transfer to Kate STEPHEN	3	0.01134	0.03402
Transfer to Kate STEPHEN	92	0.01816	1.67072
Transfer to Kate STEPHEN	43	0.06682	2.87326
Transfer to Kate STEPHEN	382	0.16974	64.84068
Transfer to Kate STEPHEN	456	1.00000	456.00000
Value of non-transferable ballot papers			412.97666
	Total		938.50622